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Maximum : 80 Scores

Time:2YzHours

Cool -off time : 15 Minutes
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General Instruction to Candidates :

o There is a 'Cool- off time' of 15 minutes in addition to the writing time.

o IJse the 'Cool of time' to get familiar with questions and to plan your answers.

o Read questions carefully before answering.

. Read the instructions carefully.
o Calculations, flrgures and graphs should be shown in the answer sheet itself.

o Malayalam version of the questions is also provided.

. Give equations wherever necessary.

o Electronic devices except non- programmable calculators are not allowed in

the Examination Hall.
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Answer any 8 questions from L to 10 Each carries 1 score. (8 x 1- 8)

l. If export > import, it represents

a).Trade surplus b) Trade balance

c. Trade deficit d) None of the above

ocorglotorl pooolo<orlecorooctrrO o)sl<olercculcrn <oncuouoocol ocern'loo1cmcil.

a).or5c".tco oir4o b) cruoor;dto olJcorcoo

c. cxJcoJcro em'l d) pcuocorccmloH

2. Micro Economics is also known as -
a).Price Theory b) Demand theory

c). Income Theory d) Cost theory

ml g ado mt c mt roto'la so c mit<o o <on cr'l cot o gs I cm <d

a).ofle.r mr'lrallcnolo b) c"-rcram mrTucoolo

c). cuo;occn mr'lr:r-lco'olo d) ";taoi m.l'lrallccnrro

3. Slope of Indifference Curve shows

a).Price ratio b) DMRS c). DMU d) None of these

crrl qp o rn <or c clle <om1 er Q o 
"-"r<o'1 

oY cru g o.fl6| eerl cm cil

a).cr-l)a Gracnl.,rc<oro b) DMRS c). DMU d) pcrercorccmlo.Ds

4. If MPS :0.7, then MPC is equal to

a).1 b) 0 c).0.7 d) 0.3

MPS 0.7 <o'rgoemoloE MPC

a).acrd b) .rge5" c).0.7 d) 0.3

5. Balanced Budget Multiplies is always

a). Zero b) One c). -1 d) 2
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6. Which of the following represent Normal Profit?

a). MR: MC b) AR: AC c). TR > TC d) AR < AC
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"6 

rorcerd fiucoco6rT) EJcGo

a). MR: MC b) AR: AC c). TR > TC d) AR < AC

7. Father of Macro Economics

a). Adam smith b) Samuelson c). Ricardo d) J.M Keynes

cruo) e.t m-r cmr onrilo uoccnittoonil oofl .'ilo'r coi

a).orgcr-uo myalroloY b) mlcoscroE ruenE c). olaocdcnl.rc d). oa."61o.oocor'loEcni

8. Ac is the sum of AFC and

a). MC b) AC c). TVC d) AVC

uoocuoo'l oreroi AFC aolosaDlo oaflcorlo cqoe ollecotceni

a). MC b) AC c). TVC d) AVC

9. Net investment: Gross investment less

a). Depreciations b)Net indirect tax c). NFI d) Market price

amg mlcavoJo ognDoY oocoloo cn'lcasa.,:omjl<08 crrlcm;o -------6)ogo'rcerd,

a).e<ocliocmo b) ..8 oreoc&si crrla;<il

c). <ong"os& oro)ocoo d). eccruceoilel

is known a aggr egate money re sourc e10

a).Mr b)M: c).Mz d) Mo
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Answer any 5 questions from 1I" to L6 Each carries 2 score. (5 x 2:10 )

1l.Differentiate cardinal Utility and Ordinal utility

acdot"lmoE potao)o(ocoaolo octdcrxlcnoS p"-tcotlanoxola0))o <o'rmletlgp dJroJcrruo

o0elto)6.

12. Write the economic terms

(a).The output per unit of variable input

(b).Cost per unit of output in the short run.

GnCnIGAOCgJOCao oJBo 66t5I'13OrO)o

(a). oo cororo po8 gcm sronrr ojlc reo "ets o<orriloofl 
"0 Woo6c6nd .,oo14coE

e1g1cm<til.

(b). t ocrure ca cot g cu1o8 o o coroo oe.Jeiol'locD o o conDo ooE olcm o oec6rld

oool4coE e,151cm<d.

13.Match the following

AB
a.IRS rc

q

b.SAC outPut: inPut

o.CRS Lrc
A,q

d.SMC outPut > inPut
eoJolooJsl claeole
AB
a.IRS rc

q

b.SAC PoEo:cmo = cD'lcoluoo

o.CRS 
Arc

A,q

d.SMC PoE.ucmo = m'lccuuoo

14.Define the following

a. Final goods

b.intermediary goods
(ocoe oJoaolcmor cn'16gilaole

a. o'nmoila poE gcmocBua

b. ta'oool<ocg potgmoo'Bua P.T.O
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15.List out any two limitations of Barter System.

en:cd g t6 fiutou(3cao)<oroloofl o6 oroE,lerlo oord c.,JcocqroarE og e1<o3e,.

16.Name the major four sectors of Macro Economy

mnleJ rucnrri' cu5cucnrocofl oet toJoccDo gg mceY ca eu etarO og') el<o.r]6

Answer any 5 questions from 17 to 23 Each carries 3 score.

lT.Explain the basic problems of an economy

on s'lcnro cm ml c m: onrr'lo [.,.rudm 60'B tr0 ofl cu o1eerl e.

l8.Mark the flows in given diagram.

(5 x 3:15 )

<o'r cm'loleer ; cm 
"-fl 

1o)ronrrloE tc,r o ccn oHs toJcu c ooes'n sA Gn s co) c g o HSl onD) 6.

rg. Mention any three factors affecting quantity demand of a product
GAJoG mo(oro mllccu"lm'leo) cm oCI o(oa1er;o oScrd .asaesBra c)og)6)le.

zo. What are the limitations of GDP as an indicator of welfare.
casro<uro'lero$ ml3reo o6cm o"l<ojlcor'loE cr:cro'lcor ruolocmromilerop orc'lo1<ojleuE

o0el<0l)6.

zr. What are the factors influencing supply curve of a firm.
[oJ(l)Cm OtL6 O(orO ml:CUt"lCri]eO]Crn oeJS eAmO6 o{J O(OC 6)66) ?.
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zz.Explain the characteristics of perfect competition.
a o1 ag 6 ep e1s o oru o e c mr c g romrl oofl ruofl c uoosr<o e c/6 oflcu o1aerl a.

zs. Explain the difference between BOT and BOP

nnsoi oo1"dscu1o, cuJcotcto oo'1 
"ds 

orlo co:d<o1o'lodeltole.

Answer any 4 questions from 24 to 30 Each carries 4 score. (4 x 4:16 )

24.Differentiate price ceiling and price floor
oils orolul'laDlo rooclfl aao)]o <om'ler1gp cuJro'[ccruo ooe](o.)]e

zs. If Qo 
: 700-4P and Q.: 300 + P. Find equilibrium quantity.

ool poEgcmromrloo$ eemrcg eorcocDo 700-4P aolo oecrxcp toJBccDo

Qr:300 *P aolo GreocrDm'loE m-rcroleilo o:leLcorSo m-roolleil<o'r GnpoJlo

oenelofls166)le.

zo. Complete the table.

agla or16<orolcorc€.o)6.

M1

M2

M3

M4

27 .Write a short note on the emergence of Macro economics.

crun) er m-l cmronrr'lo uoccnitoo'loofl oO ru16re ccuoom elcnd o o1 e;cnd
o0el<o)e.

28.Explain the three methods for determining exchange rate.

or'lcn'locor cn'load <o"lo;occrrloolcmoflmlpg oiloil<u olol'leop e;o1o4e)<o)e.

29.Calculate PI and PDI

NDPec - 5000

NFI . 4OO

Transfer Income - 250

Personal Tax - 500

Corporate Tax - 500

Un distribute profit - 700

Net interest payment - 300 P.T.O
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Answer a 3 questions from 3L to 35 Each carries 5 score. (3 x 5-15 )

31.If Pl :6,P2:9, M =36 .

a. Write the equation of the budget line.

b. Draw budget line

c. If Pz increases from 9 to 12 find the changes in the budget line.

d. Find the slope of the budget line.

e. Find the horizontal intercept

f. Find the horizontal

If P1 : 6,Pz:9, M : 36 orgeremo'loE

a. eruarie$ ooamloo! ouoorceJo oSle]<o'rlo.

b. erunrie$ coeu oro€ole.

c. P2 s cE cnlcrd rz crgcol crdru.l14coE erlnr5efl coorcor'l<oE crjolcrD oc$o

o.roatiesrla.

d. erunr5e $ o o et crrlo o$ o"-ro1oi e enel .'fl sldol 6
e. o.ro c o'l c m.l c oneoE p crfl <E oml "if; e onel 

"jls1asr1 
o.

sz. Explain the objectives of Govemment budget.
cn or enE oo o$ eru nde gr'1 o ofl a ev5oonu0 culcuro'1 esrl e.

eg. With the help of diagram explain the conditions of perfect competition.

"-ilLro'r<om'lerofl 
m-rooccoteorocos m.rcnrgdem a'lsooruo ecmtcgroroiloe.r cruoo'l1er1

occucruoq)1os m'len:mtmocrE ogelorle. P.T.O
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cu5do'i1 oroloccnoJlo, cuJ6ro'1urro cu1m1e@c@ clJolocff)oJlo eene1ofls16ol6.

NDPFC - 5000

acg <rosculecrE - 259

crog o€JSe .J.loc,o - 400

cu5eo'l<n<o cn1a,1<o1 - soo

cecttgeof crAeSail - 5oo

oil<o'roemo o4JqoHS c6nt)

eJCGo - 7O0

ong "-reilooaosoi - 3oo

30.Explain flexible exchange rate system and fixed exchange rate system.
(oaao)orlB9 oilcrr'locor crr'loed ou[crx6ccoo, rnrolo oilcrr'laco cnloe.d' ffuguec(Do

pcuoao e;o1o4e1o)16.



sa. Define law of Demand. What are the factors determining demand.

"gloolcerd 
GeJcGm cn'lcoroo. GoJcemoolo m-ltccplcrr'leerlcrD oeJSemBUA .rCIcu?

69
= ,.Ll

D= 4r-/

AD

A

es. The above diagram shows an equilibrium in the product market.

Suppose autonomous investment (AJ increases by 100 crores and MPC : 0.8

what happens to AD and equilibrium income. Explain this with the help of a

diagram.

gtoE.r.rcm oil.uerrr'lcofloe.r m-rnorleflocorcru-o e,cerrrlosrlcm o-il[<oacerd o1egl<oE

oecsyorrr'loleeigcm<d. our(oLrnD crilcesr.,.to (h 1oo eecs'lcorccoi cudrui6ilesrl

eaolo MPC : 0.8 po Grlao)coE erocronno GoJcecDroro'lello crucroleilo) cuolocm

<oror1alo cu<o]crn o cgo e-flt<o.larf ong cfuoocao)eolocos olJotoo coo)6.

Answer any 2 questions from 36 to 38 Bach carries 8 score. (8 x 2:16 )

1. Explain any two methods of measuring GDP.

GDP eenelilsleolcmrofl mlCE 
"Oo@o1a1o 

oerd o"lo'r'lauA dcuoleole.

2. Explain consumer equilibrium with the help of budget line and indifference

curve.

enro.rSe$ eo6'uaolosco)]o crrlo{Dtoc cuLeoror',leropcol;o cruooco)Gorocos poJceco(o.)s

cruo 6.)) eil o.) ccu ou-o cu'lcu oleerl e.

3. Diagramatically explain the law of variable proportion.

oilcreoecmloJc(o m'lcorao 
"jlCooroloo$ 

ml.,occoreolocslelsl oilcuo'loole.
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